Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - « EXAMINATION — SUMMER-2015

Subject Code: Yarn Manufacturing Technology: 11 Date: 04/05/2015
Subject Name:342901

Time: 10.30 am-01:00 p.m Total Marks: 70
Instructions:

1. Attempt any five questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. Each question carry equal marks (14 marks)

Q.1 (a) Explain the object of comber and speed frame process. 07
(b) Explain the nipper movement in comber machine. 07
Q.2 (a) Draw a sketch showing passage of material in comber machine. 07
(b) Explain principle of twisting and winding in speed frame machine. 07

OR
(b) Draw a sketch showing passage of material in ring frame machine. 07
Q.3 (a) Explain the dry doubling system. 07
(b) Explain the production of loop yarn. 07

OR
Q.3 (a) Expalin roving waste opener with neat skectch. 07
(b) Draw andexplainpassage of yarn through doubling frame. 07
Q.4 (a) Expalin the cause and remedies for comber defect. 07
(b) Explain antiwedge ring in details. 07

OR
Q.4 (a) Write short note on flyer in speed frame. 07
(b)  Write short note on spindle in ring frame. 07
Q.5 (a) Write the function of Ring, Traveller, Traveller clearer, Ring rail, Separator. 07
(b)  Write the function of Flyer, pressure arm, condenser, Flyer top, aprons. 07

OR

Q.5 (a) Calculate the production of Ring frame machine in kgs and Lbs from the 07
following data. Spindle speed = 18000 rpm, Count (Ne) = 40, TPI = 25,
Efficiency = 92%, No of spindle = 1200, Working time = § hrs.
(b) Calculate the production of comber machine in kgs machine from the 07
following data.Feed/nip = 5.2 mm, Nips/min = 400, Lap weight =65 Gms/mts,

Noil= 18%, No of heads = 8, Efficiency= 90%, Working time = 8 hrs.
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